<EREZRDE>  mrpms kw2
*AFRITHID & =

eigen

1 2 3 4 5 6 7 8 9 10
2 3 4 5 6 7 8 9 10 1
3 4 5 6 7 8 9 10 1 2
4 5 6 7 8 9 101 2 3
Am 56 7 8 9 101 2 3 4
6 7 8 9 10 1 2 3 4 5
7 8 9 101 2 3 4 5 6
&8 9 101 2 3 4 5 6 7
9 10 1 2 3 4 5 6 7 8
101 2 3 4 5 6 7 8 9

{s,V}=eigen(A) ZEAANT, EHMEN s IEHAXZ VRN VITRASIND

RE > 7 A H
s={55.0000, 16.1803, 8.5065, 6.1803, 5.2573, -5.0000, -5.2573, -6.1803, -8.5065, -16.1803 }

KESTBEE~Z ML

-0.316 -0.263 0.203 0.138 0.070 0316 0442 0.425 -0398 -0.362
-0.316 0 -0316 -0.447 -0.316 -0.316 -0.316 0 -0316 -0.447
-0.316 0.263 -0398 0.138 0.442 0316 0.070 -0.425 0.203 -0.362
-0.316 0425 0.070 0362 -0.398 -0.316 0.203 0.263 0.442 -0.138
-0316 0425 0.442 -0362 0203 0.316 -0398 0.263 0.070 0.138
-0.316 0.263 0.203 -0.138 0.070 -0316 0.442 -0.425 -0398 0.362
-0.316 0 -0316 0.447 -0.316 0316 -0.316 0 -0316 0.447
-0.316 -0.263 -0.398 -0.138 0.442 -0316 0.070 0.425 0.203 0.362
-0.316 -0.425 0.070 -0.362 -0.398 0316 0.203 -0.263 0.442 0.138
-0.316 -0.425 0.442 0362 0.203 -0.316 -0.398 -0.263 0.070 -0.138

* ERFRITIID L E

1 2345 6456
72349 865 4
32123 4635 4
32345 6907
C=[8 9 4 3 21 46 7 8
93456 7998
8 77 6 6 5 421
34678 3213
45897 0345

{s,V}=eigen(C)
KE-7-EHAHME

s=1{-0.773897463182094, 12.0090694744043, 47.7760550996517}
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